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1. Answer any two parts : -

(@) You are given a situation where the government increases its spending
and finances the same by an equivalent decrease in transfer payments

such that AG = —ATR. Answer the following and give reasons for your
answers.

() What is the change in equilibrium income ?
(i) What happens to the government budget surplus ? Does it rise or

fall ?
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(i) Derive the value of balanced budget multiplier in an economy with

lump-sum taxes and no transfer payments. (2.5,3,2)

(b) Explain how each of the following impact the LM curve. Give

reasons.

(i) Interest sensitivity of demand for money is infinity.
(ii) Money supply is positively related to rate of interest.

(ii1) People want to hold less money at each level of income.
(2.5,2,5,2.5)

(c) Start with an economy whose output is below the potential level of
output. The government wants to follow- anéxpansionary fiscal policy in
order to reach at the potential level of output in the short run. Analyse
the impact of the following three options on output, interest rate and

composition of output in the IS-LM framework.
(i) Increase in government spending on goods and services.
(11) Increase in subsidy on investment.
(iii) Reduction in tax rate. (2.5,2.5,2.5)
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2. Answer any two parts:

(a) Assume that an economy is in medium-run equilibrium and the government

declares an increase in unemployment benefits.

(i) Using the wage and price setting curves, trace the impact of
the above policy on the real wages and natural rate of
unemployment.

(ii) Use the AD-AS framework to analyse the impact of the above
policy on the output and price level in the short-run and the medium-
run. _ - (2.5,5)

(b) Consider an economy where investment is negatively related to the rate
of interest (as is normally the case). Additionally, consumption is also
negatively related to the rate of interest. Answer the following questions

for such an economy. Give reasons for your answers.
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() What happens to the slope of AD curve ?

(i) If this economy is initially in medium-run equilibrium, use the AD-AS
curves to trace the impact of an increase in government
spending on output and price level in the short run and in the
medium-run. (2.5,5)

(é) Explain how AD curve gets impacted by each of the following
factors :

(i) A reduction in income tax rate.
(i1) Interest sensitivity of money demand is equal to infinity.

(iii) An increase in money supply by the Central Bank. (2.5,2.5,2.5)
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3. Answer any two parts :

(@) (i) Howis expectations-

Phillips Curve ?

(i) \:((.)u afe 'given the following information :
Okun’s law: u-u = —«0.4(gyt -3%)

- Phillip’s Cﬁrve: -7 = =(u, - 5%)
Rate of growth of nominal money supply in the medium run =7%

Derive the values of unemployment rate, growth rate of output and

inflation rate in the medium run. '(4.5',3)_

by @ Explain the essential difference between the conc

epts of adaptive
expectations and rational expectations.

(i) Explain the basis of “Lucas’ claim that the cost of disinflation in terms

of excess unemployment is lower than that suggested by the traditional
Phillip’s Curve approach.

(c) (1) According to Sargent and Wallace,” only the unanﬁcipated

part of the
government policy can affect output”. Explain. '

(ii) State the characteristics of forecast error under rational expectations.
(4.5,3)

PToO.
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(4,3.5)
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4. Answer any two parts:

(a) You are given the following information about an economy :

Consumption : C = 200 + 0.75Y,
Investment : [ =200 — 25i
Government Spending : G = 100

Taxes : T = 100

Real demand for money : L=Y - 100
Nominal Money Supply : M = 1000

Price level : =2
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(Y, equals disposable income and i refers to rate of interest)
(i) Compute the equilibrium level of output and interest rate.

(ii) If G is increased from 100 to 150, how much does nominal money

supply needs to be raised, in order to realise the full expansionary
effect of a rise in G.

(i1i) How much should the money supply be increased if demand for

money was perfectly interest elastic. (3,2.5,2)

(b) (i) What do you understand by sacrifice ratio in the traditional Phillips
Curve approach ?

(ii) Can a faster disinflation reduce the sacrifice ratio in this approach ?

(iii) How does the assumption of rational expectations challenge the
traditional approach ?

(iv) Would the présence of nominal rigidity of wages change your answer

of part (iii). Give reasons for your answer. (2,1,2,2.5;

(c) (i) Assume an economy is in medium- run equilibrium. Using the AD-
AS approach, trace the impact of a decrease in autonomous

investment on output and price level in the short run.

(i) Suppose the government decides to follow an expansionary mretar,
policy in response to the decrease in autonomous investment in
order the prevent the output from falling in the short run, use the

AD-AS approach to explain what would happen to output and prices
in the medium-run. : (2.5,5)
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5. Answer any two. parts :

(a) Assume an economy with perfect mobility of capital, fixed prices and
flexible exchange rates. '

(i) Trace the impact of an expansionary monetary policy on output,
exchange rates and interest rate.

(ii) How would the impact of expansionary monetary pelicy be different

if exchange rate instead was fixed ? . (4.5+3)

(b) Consider an economy at full employment level of output and trade balance.
You are told that the exchange rate is fixed and capital is not mobile.

Analyse the impact of the following on output and trade balance in the

short run.
(1) An increase in government spending.
(i1) A loss in the export markets.

(ii1) A decrease in imports with a corresponding increase in Gow:=siic

consumption. , (2.5,2.5,2.5)

(c) (i) Explain the roles of expected changes in exchange rates and risk
premium in the asset market approach of determination of exchange

rates.

(i1) In the short run, why do exchange rates tend to overshoot tiieir jong

run equilibrium level ? (5,2.5)
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